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QUESTION NO: 1

A company is going to test authentication by both using passwords and not using passwords for their IBM Datacap
application.

Which two authentication system can optionally be configured to either require passwords or not require passwords?
A. TMA

B. LDAP

C. ADSI

D. ADLDS

E. LLLDAP

ANSWER: B C

QUESTION NO: 2

For a profile to be visible in the Mobile app’s configuration screen, what two conditions must be met?
A. The Profile name is set to Mobile.

B. The mode of a task is set to Branch.

C. The name of a task in the profile is set to Mobile.

D. The program option of a task is set to Mobile Capture.

E. The mode of a task in the profile is set to Batch Creation.

ANSWER: D E

QUESTION NO: 3

An insurance company has a requirement that the person that scans the batch must not be the same person that validates
the batch.

Which task detail setting will meet this requirement?
A. Mode: Router, Queue by: Station ID

B. Mode: Router, Queue by: Other User

C. Queue by: User ID, Store by: Other User
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D. Queue by: Other Station, Store by: User ID

ANSWER: C

QUESTION NO: 4

Compiled rulesets offer a pre-set list of actions that can be configured using which two of the following tools?
A. Datacap Studio

B. FastDoc (Admin)

C. Datacap Navigator

D. Datacap Ruleset Manager

E. Datacap Application Manager

ANSWER: AB

QUESTION NO: 5

A customer has more than 500 document types that are to be processed by IBM datacap. Some of these documents will
have 100+ fields.

Will the developer have to split this into multiple applications and why?

A. Yes, because there is a system limit on the number of fields available across the Document hierarchy.

B. No, because of Datacap’s multi leveled hierarchy the number of document can be split across the levels

C. No, because Datacap Document hierarchy will support an unlimited number of documents, pages and fields.

D. Yes, because there is a system limit on the number of document types available in the Document hierarchy.

ANSWER: B

QUESTION NO: 6

A company needs to decide what scanner types to purchase in order to support their scanning needs.

Which two IBM Datacap components support both scanner driver interface, Image and Scanner Interface Specification (I1SIS)
and TWAIN drivers?

A. FastDoc application
B. Datacap Studio application

C. Datacap Desktop application
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D. Datacap Navigator application

E. Datacap Web Client application

ANSWER: AC

QUESTION NO: 7

In a client/server configuration, security encryption keys are imported to the computer where each of the Datacap
components is installed and configured.

In which of the following Datacap components would the encryption key be created?
A. Datacap Server

B. Datacap Desktop

C. Datacap Rulerunner

D. Datacap Application Manager

ANSWER: A

QUESTION NO: 8

A solution designer is trying to create a ruleset to validate currency field values.

Which of the following values would need to be adjusted prior to running IsFieldCurrency successfully?
A.123.4

B. 123.40

C.$123.4

D. 123.40 USD

ANSWER: ACD

QUESTION NO: 9

A company is planning to build a development environment in which an Oracle Directory Server will be the authentication
system.

Which authentication system would be used in this scenario?
A. TMA
B. LDAP

DumpsQueen - Pass Your Next Certification Exam Fast!


https://dumpsqueen.com/

DUMPSQUEEN

C. ADSI
D. LLLDAP

ANSWER: D

QUESTION NO: 10

An insurance company has two kinds of members: pre 1978 member IDs that are alpha numeric and post 1978 that are all
numeric. The batches are prepped in a way that contains both types of members. The pre 1978 members need special
handling and must be routed to a supervisor.

Which of the following set of actions would provide a routing solution?

A. Function 1IsRegExInField(“*[A-Z){3}[0-9{7}")Task_SplitBatch(“1”)Task_RaiseCondition(“0,0”)Function
2|sFieldPercentNumeric(“100”)

B. Function 1lsPatterninField(“*[A-Z]{3}[0-9{7}") Task_NumberOfSplits(“1”)Task_RaiseCondition(“0,0”)Function
2lsFieldPercentNumeric(“100”)

C. Function 1IsRegExInField(“*[A-Z]{3}[0-9]{7}")Task_NumberOfSplits(“1”)Task_ConditionRaiseTo(“0,0”)Function
2|sFieldPercentNumeric(“100”)

D. Function 1lsPatterninField(“*"[A-Z]{3}[0-9]{7}")Task_SplitBatch(“1”)Task ConditionRaiseTo(“0,0”)Function
2lsFieldPercentNumeric(“100”)

ANSWER: B
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